MHE

No.1
BRIRE B FR & B4 | BUME | EEHE & &
E MZEH - TR|HPPE(EFZ O FZEE) L=500m @ 200 x 28
BoKEMET " @100 X 1
" @50 ¥ 3
HPPE(EEZ&) L=5.00m @ 200 x 1
" ® 100 ¥ 3
" @50 ¥ 3
HiVP  L=4.00m @50 p:N 1
" @25 p:N 1
EFRUK () ¢ 100 x 45° & 2
" ¢ 50 x 45° & 2
EFF—X (%) $200% @75 1& 1
" @100 x ¢ 50 1& 1
EFF—X(F%) $200x 100 | 1& 1
EFV vk ® 200 & 4
" @100 & 2
" ®50 & 1
EFAZLTa1—Y ®75% @50 & 1
AHEEE GRYER) @100 x 45° & 4
ERFERA AHEHEPXV) ¢ 50 x 45° & 1
AHEE BEER) ¢ 50 x 45° & 1
VsSTaq ok ®50 & 1
SKXV 4wk (BKFARYE x EEH) $50% ¢ 25 & 1 XKRIFHLUE
HiTZJLAR ®25 & 2
MC1=H#> 25 & 1
AHEEE GRYER) @100 x 45° & 2
PCYaAf Uk @100 & 1 MEXia
AhE GRYER) ® 200 & 1
AR —bk W=150S m 191.7 140.0+3.4+1.2+2.2+17.1+0.9+15.0+9.9+1.2+0.8




MHE

No.2
RIRE B FR & B4 | BUME | EEHE & &
HEFRB T ¢ 200|PEFELOMY IR — LR RUER) ¢ 200 # 1
ToH=E H=800 #A 1 ¢ 200
HEFRB L ¢ 100|PEFELOMY IR — LR RUER) ¢ 100 # 1
toH=E H=800 #A 1 ¢ 1008
HYIHBZEL 050 | FIRELYIF 650 ®50 A 2
HRLHFVTryrGRUER) 17+ ¢ 50 & 4
toH=E H=800 #A 2 ¢ 50/
HNIRERET ¢ 75 0H K42 75 = 2
f#EF H=200 b75 1@ 2
PEfELOFHETFE ®200x 75 1@ 2
TSUOMFM 75 & 4
HKRE H=800 #A 2
HwAKkoET HRILIFHKE GRUER) $200 % ¢ 40 & 1
" @ 200x% ¢ 20 & 6
" ®50% ¢20 & 1
SKX4r bk RV /7y BEE ) ®40 & 1 XKRFHLUE
ALAHHF ®20 & 6
ISATIAUk @20 & 1
HivV 4y ®20 & 7
HiTZJLAR 20 1@ 14
SKXTJLR(BEEE ) ®40 & 2 XREEmMULE
HiVP  L=4.00m ® 40 X 1 2.0m7AE%(2.0m x 144§)
" ®20 ¥ 4 13.0m7AER(2.0m x 645, 1.0m x 144£)
BRI —k W=150S m 11.0 11.0m#ER(1.5m X 744, 0.5m x 144)




FHE

No.1
BRIR A Z2E g B | 293 E | ER¥E & =
Ml WzEIETHR|RIIFLOEMET ® 200 m 143.4 140.0+3.4
BoKEMET " ¢ 100 m 17.1
" ®50 m 249 15.0+9.9
E-—ILEMERT ®50 m 12
®25 m 13
RUIFLUERF I (REES) $200 1Q#F | O 29
" ®100 10O0#F | O 1
" ¢75 10#F | O 1
" $50 1O#F | O 3
RUIFLUERFT (BEES) | $200 208F | & 5
" $100 20O0#F | &R 5
" $50 20#+F | &FT 3
RUIFLUEYMT ® 200 A 2
" @100 A 9
" ®50 A 5
AH=ZHIIBFETGRYER) ¢ 200 A 1 AhBite
" @100 A 13
" ®50 A 1
AN=HIBFI (HHER) ® 100 A 1 EPEH
AN=HIHBFT (EEER) ®50 = 5
RUTFLUOEMRFT @50 A 1
" ®25 A 1
TSH#FT @25 A 4
EHRY—k m 191.7 140.0+3.4+1.2+2.2+17.1+0.9+15.0+9.9+1.2+0.8
BKERERT HKERE H 0.10 192.2m/2,0008=0.108




FHE

No.2
BRIR A Z2E g B | 293 E | ER#E & =

HYIFHBET ¢ 200 |[{EU)FERET ® 200 £ 1
FEHRET H=800 # 1
BERE ® 1
HYIHBZET 4100 | (Y HBBT ¢ 100 B 1
FEHRET H=800 # 1
BEZE ® 1
HOFRBEI 650 | EUIFHREL ®50 = 2
HENOEERLAH#ES ®50 A 4
RUTFLUEMRFET ®50 A 4
AEFRET H=800 #A 2
BERE ® 2
ARBTG5 [JHMRRETL b75 = 2
IV MFET b75 | 2
FEHRET H=800 # 2
BERE ® 2
kOB T YRILDKEFRELGRUER) ®200 X ¢ 40 & 1
" $200% 20 & 6
" »50% ¢20 & 1
HENOEERLAH#ES ®40 A 1
" ®20 A 7
E-—ILEMET ®40 m 2.0
" ®20 m 13.0
RUTFLUOEMRFT ®40 A 5
TSH#FET ®20 A 42
ERRY—b m 1.0




T I #H = X No.1
£ 7 % H B 4 = HEtH=E
il MZEN-THR
BoKEMRTL H=800 BrE @ 060 m X 1.050 m X 1468 m = 9248 m3
FH¥IH=1000 | BFEQ 060 m X 1125 m X 75 m = 506 m3
Bt PRI T H=800 BrEQ 060 m X 0985 m X 105 m = 6.21 m3
H=800 BrE@ 060 m X 0923 m X 142 m = 7.86 m3
H=600 BrE® 050 m X 0723 m X 127 m = 459 m3
&Et 116.21 120
WrmEQ 060 m X 0450 m X 1468 m = 39.64 m3
HMHERLT SR BE. 060 m X 0325 m X 18 m = 351 m3
WrE@ 060 m X 0263 m X 142 m = 224 m3
ErmE® 050 m X 0263 m X 127 m = 1.67 m3
&t 47.06 50
#rE@ 060 m X 0350 m X 1468 m = 30.83 m3
e WEQ 060 m X 0550 m X 75 m = 248 m3
WRERLT REL HEd. @ 060 m X 0490 m X 247 m = 726 m3
WE® 050 m X 0360 m X 127 m = 229 m3
&Et 42.85 40
RIAET = 68.60 m3 70
TRERBET (HEd. Q) t=15cm RC-40 060 m X 1543 m = 9258 m2 93
TERET (HEO.d) t=10cm RC-30 060 m X 247 m = 1482 m2 15
HREET (BrmE®) t=11cm RC-30 050 m X 127 m = 6.35 m2 6
IERET (WEd. @) t=17cm M-40 060 m X 1543 m = 92.58 m?2 93
ITEBRET (EHEo. @) t=8cm M-30 060 m X 247 m = 1482 m2 15
RAsEHEE T (@) t=3cm FEFL 060 m X 1790 m = 107.40 m?2 107
RAsEHZE T(HE) t=3cm FEAT 050 m X 127 m = 6.35 m2 6




T T #% & F No.2

£ %fr\ BoO® H B 4 = RETHME
AEIBASET (mmT) |RE (t=5cm) oo il 100 m X 1543 m + 5 = 159.30 m2 159
XIRETER L MA-DOm2EM | K@ (t=5cm) | $AHI 100 m x 1543 m + 5 = 159.30 m2 159
AEIBASSHET =E(AHETI) t=4cm 228 i 080 m X 247 m = 19.76 m2 20
AEIHASHET $E(AHKET) t=4cm oy 3Tl 050 m X 127 m = 6.35 m2 6
A SR T t=10cm 1468 m X 3 &+ (15%x4%) = 47040 m 470
t=4cm 187 m X 4 & = 7480 m 75

t=10cm 100 m X 1543 m + 5 = 159.30 m?2 159

AsEHEZERRBERE T t=4cm 080 m X 247 m = 19.76 m2 20
t=4cm 050 m X 127 m = 6.35 m2 6

. t=3cm 060 m X 179.0 m = 10740 m2 107
AT T t=30m 050 m x 127 m = 635 m2 6
AsTHEEFHER - 5 T = 20.39 m3 20
RBFEE 2A/B x 15H = 30 A-H 30
HWKERKRT |HHEKETL H=800 060 m X 0894 m X 110 m = 590 m3 6
BmIERLT TSR 060 m X 0234 m X 110 m = 154 m3 2
BEWIERLT FE+ 060 m X 0.560 x 10 m = 370 m3 4
RIAET = 1.79 m3 2
PRAET t=11cm RC-30 060 m X 110 m = 6.60 m2 7
RAsEHZE T t=3cm FHAT 060 m X 110 m = 6.60 m2 7
AEIBASSHET (ANET) t=4cm .28 i 080 m X 110 m = 880 m2 9
AsERZERR U1 T t=4cm 110 m X 4 % = 4400 m 44
AsE HJEE&E%—"I t=4cm 080 m X 110 m = 880 m2 9
R AsEHZE RR B I T t=3cm 060 m X 110 m = 6.60 m2 7
AsTREEFHER - 5 T = 055 m3 0.6




$200 HPPE B K & 4§ & £ Bk i RN TR
UEE (m) DIHFNTJ
et o
5w E B |0 ERE S e AL fii
-1 Z.-1 Z.-2 z.-3 .4 (OO (m)
1
(=g
HPPE
B = 200
0 g oE
z-1 -2 Z-3 4 Z-5 HEE|  5.000
HPPE 200 5. 000 2. 200 1. 200 3. 400 1. 600 2
i 5. 000 2. 200 1. 200 3. 400 1. 600 2
5. 000 2. 200 1. 200 3. 400 1. 600




faran

¢ 100 HPPE fid kK & 4] & * Bowd Tl B2 FA T TR
UEE (m) DIxNF
BOEM B R |0 ERE S | I %
&
-1 Z.-1 Z.-2 z.-3 Z—4 (OO (m)
HPPE 100 5. 000 3. 200 1. 300 0. 500 5. 000 2 1
ERE
HPPE
Z b
%
z-1 z-2 Z-3 Z.—4 Z.-5 B = 100
HPPE 100 5. 000 3. 200 1. 000 0. 500 4.700 0. 300 3
HPPE 100 5. 000 3. 600 0. 700 0. 700 5. 000 2 HuhE| 5.000
HPPE 100 5. 000 1. 900 0. 500 2. 400 2. 600 2
5 20. 000 11. 900 3. 500 1. 700 17. 100 2.900 9
20. 000 11. 900 3. 500 1. 700 17. 100 2. 900 9




$50 HPPE fid K & U & # Bowd Tl B2 FA T TR
UEE (m) DIxNF
BOEM B R |0 ERE S | I %
&
-1 Z.-1 Z.-2 z.-3 Z—4 (OO (m)
1
ERE
HPPE
0 g oE
5
z-1 -2 Z-3 Z.—4 Z.-5 B = 50
HPPE 50 5. 000 2. 000 1. 700 0. 500 4. 200 0. 800 3
HPPE 50 5. 000 3.700 3.700 1. 300 1 HuhE| 5.000
HPPE 50 5. 000 2. 000 2. 000 3. 000 1
5 15. 000 7.700 1. 700 0. 500 9. 900 5. 100 5
15. 000 7.700 1. 700 0. 500 9. 900 5. 100 5




650 HiVP B K & e Bowd Tl B2 FA T TR
UEE (m) DHNS
=1 ft K N &}"f&(m) @JH‘;&I
5 OF M B R |I0OERE z u . a i &
-1 Z.-1 Z.-2 z.-3 .4 (OO (m)
1
ERE
HiVP
= 50
0 g oE
z-1 z.-2 Z-3 4 Z-5 HEE|  4.000
HiVP 50 4. 000 0. 700 0. 500 1. 200 2. 800
i 4. 000 0. 700 0. 500 1. 200 2. 800
4. 000 0. 700 0. 500 1. 200 2. 800




625 HiVP A K & B & & Bowd Tl B2 FA T TR
UEE (m) DIHFNTJ
: o
5w E B |0 ERE S e AT fii
Z.-1 Z.-2 Z.-3 Z.—4 Z-5 O-® (m)
1 HiVP 25 4. 000 0. 800 0. 500 1. 300 2.700 1
(=g
HiVP
= 25
HEE|  4.000
3 4.000 0. 800 0. 500 1. 300 2.700
4. 000 0. 800 0. 500 1. 300 2.700




